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Single Choice (2 points each)(ik 3l B R EHBE L E)

1. Regarding to the properties of primary and secondary antibody response, which statement is
CORRECT? (A) Primary response requires lower dose of antigen than the secondary response
(B) The major isotype found in the primary response is IgG (C) Antibody affinity is lower in the
primary response (D) Time required to elicit antibody is longer in the secondary response

2. Regarding to the function of different antibody, which statement is CORRECT? (A) IgA is the
major antibody in the milk (B) IgG has the greatest ability to activate complement system (C) IgD
sensitizes mast cells, leading to atlergic reaction (D} IgM has ondy soluble form but not membrane
form

3. Cytotoxic T cells use which molecules to kill target cells? (A) Perforin (B) Complement (C) IL-2
(D) Antibody

4. Which cell type is not a professional antigen presenting cells? (A) Macrophage {B) Dendritic cell
(CYT cells (D) B cells

5. Which statement is CORRECT? (A) Thl cells secret IL-4, IL5 and IL10 (B) Th2 cells are critical
for cellular immunity (C) Thl and Th2 cells are not involved in antibody class switching (D) 11-4
is an important cytokine to drive Th2 response

6. Which statement is CORRECT? (A) NK cells, nentréphils and Macrophages belong to innate
immunity (B) Initiation of innate immunity, is later than adaptive immunity (C) Innate immunity
can memorize the pathogéns and have quickresponse in the second infection (D) Specificity is one
major feature of the innate immumity

7. Regarding to acquired immunodeficiency syndrome (AIDSYHIV, which statement is CORRECT?
(A) HIV attacks CD8 T cells (B) AIDS happens immediately after the infection of HIV (C) AIDS
patients mainly die of infection of opportunistic pathogens (D) Vaccination against HIV is easy

8. Which statement regarding to development of immune system is CORRECT? (A) Bone marrow is
the stemn cells of B but not T cells (B) Thymus has three different kinds of T cells, namely
CD47CD8", CD4’CD8 and CD4'CD8%cells (C) Hematopoietic stem cells give rise to both
Iymphoid and myeloid lineages (D) Bone marrow transplantation can only correct defects in T cell
development

9. Which statement is CORRECT? (A) CD4 T cells recognized MHC class I-peptide complex on
antigen presenting cells (B) MIC I presents endogenous antigens (C) Antigen presenting cells can
present whole pathogens through MHC (D) One T cell receptor can recognize two different
peptides presented by different MHCs

10. Which cells do not belong to the immune system? (A) T cells (B) Monocytes (C) Epithelial cells
(D) Dendritic cells
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1. What are the causative microorganisms for the following diseases (1% each, total 3%):.
a. Legionellosis
b. Tuberculoid leprosy
¢. Spongiform encephalopathy
2. Please explain the following terms (2% each, total 4%):
a. Adenylate cyclase toxin
b. Zoonosis
3. Pleasc describe briefly the mechanisms of action for tetracycline, rifampin and quinolone (6%)?
4. What is underlying mechanism for the formation of “pseudomembrane” during the pathogenesis of
Corynebacterium diphtheriae (3%)?
5. Genomic information has made advanced tremendously in the recent years. What will you take
advantage of the newly gathered information to advance your field of research (e.g. pathology, oral
and environmental biology) (4%)?
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1. Herpes simplex virus 1 A)Chicken Pox
2. Varicella-Zoster B) Infant'Diarrhea
3. Pox virus C) Cervical Cancer
4. Hepatis D virus D) Congenital defect
5. Rota virus E) Vaccinia
6. Rubella virus F) Trigemenial ganglia
7. Adenovirus G) Hand-foot aﬁd mouth disease
8. Coxackie A virus H) Defective virus
9. Human papilloma virus I) Hemorrhagic fever
10.Dengue virus I) Conjunctitis

U AX—#50BEFTHET CHERBREFLERGBALTCERERDL IS 8%
FHSERE R BRRLGENEAFGRBELORAGLH HXV FH -t — 2 75
F LA - (10%)

pEX P

1. 8 retrovirus 2 life cycle » Rk ¥ 4m 48 viral RNA 4o 47 #47 replication B34 24 2]t fi
b (6%) ? 3k virus replication 2 4§ 4o {7 JE A # cell transfection Z FER AR E LA E P tm
jar o BB A (3%) 7 b deiTi@d LTR retrotansposon F X HABER# 2 B
BBE  BEAHMT (3%)7

2. REMAMBEEABwES REFIBAUNRALEHRAREMBH L defense
mechanism # FF£:(5%) 7 4 B ik B g host defense mechanism 277 X B 47 » H A4
RIBGE%) ?




